22. Find the distance from the vector y to the subspace W = Span{u v}, where dint
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9. Let P3 be the space of all polynomials of degree at most 3. Which of the followmg sets
are subspaces of P37
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(i) Set of all polynomials p in P3 such that p(0) p(2) = 0.
(ii) Set of all polynomials p in P3 such that p(1) = 4p(0) + 2.
(iii)/Set of all polynomials p in P3 such that p(1) = 0 and p(4) = 0. Swbspa o
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19. Let C[—1, 1] be the vector space of all continuous functions defined on [-1,1]. Define with
the inner product on C[—1, 1] by

(f9) = /_'1 f(t) g(t)dt.

Find the orthogonal projection of 10t* — 5 onto the subspace spanned by 1 and ¢ (with
respect to the above inner product on C[—1, 1]).
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